Answer on Question #67919, Chemistry / General Chemistry

30.00mL of 2.424 M HCl is reacted with an unknown concentration of LiOH
three times. The volume of LiOH used is 15.32mL, 15.28mL, and 15.29mL,
respectively. What is the concentration of LIOH? How many mols of H3O* were in
the solution? How many mols of OH" reacted? What is the concentration of OH™?
Solution:
HCl+ LiOH — LiCl + H,0
H*+0H - H,0

c(HCL) X V(HCI) = ¢(LiOH) X V(LiOH)
c(HCL) X V(HCD)

LiOH) =
c(LiOH) V(LiOH)
iy < CHCDXVHCD _ 3000x2424 o\ o
GO = =3 70m  — 1532 »/407UD
iom < CHCD X VEHC) _ 3000x2424 o0
WOH) = =0 Tom  — 1528 »/°92U0D
iom < CHCD X VEHC) _3000x2424 _,
WO = = o — 1520 /o61UD
- 4.7467 + 4.7592 + 4.7561
E(LiOH) = : — 4.7540 (M)
30.00 * 2.424

n(H,0%) =n(HCI) = 1000

n(0H™) =n(H,0%) = 0.0727 mol
E(LiOH) = c(OH™) = 4.7540 M

= 0.0727 (mol)

Answer: c(LiOH) = 4.7540 M; c(OH) = 4.7540 M; n(H30") = n(OH")=0.0727 mol
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